
Caution: Please read through the instructions carefully.  Installer is responsible for damage 
if instructions are not followed properly.  

Revision 080322

SEAT-682 
RHOX Bag Attachment

Fits RHOX SEAT-691 and SEAT-688 Safety Grab Bars 
Assembly Instructions

Contents of Kit QTY
a A-Frame 1

b Upper Bag Support 1

c Lower Bag Support 1

d Base Frame 1

e Hardware (Contents on Next Page) 1



PAGE 2

Hardware Kit
 
 
 
 
 

Contents QTY
a M6 x 30mm Button Head Cap Screws 5

b M6 Nylock Nuts 5

c M6 Flat Washers 10

d M6 Rubber Coated Bumper Nuts 2
 

Tools Needed for Assembly

- Sockets and Open Ended Wrenches (10mm) 
- 4mm Hex Bit 
 
 
 
 

Bag Attachment Assembly 

1.	 Fasten the base frame to the A-frame using (2) M6 x 30 Button Head Cap Screws,  
(4) M6 Flat Washers and (2) M6 Nylock Nuts. Hand tighten. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



PAGE 3

2.	 Fasten the lower 
bag support to the 
A-frame using (2) 
M6 x 30 Button 
Head Cap Screws, 
(4) M6 Flat  
Washers and (2) 
M6 Nylock Nuts. 
Hand tighten. 
 
 
 
 
 
 
 

3.	 Fasten the vertical 
bracket on the 
lower bag support 
to the base frame 
using (1) M6 x 30 
Button Head Cap 
Screw, (2) M6 Flat 
Washers and  
(1) M6 Nylock Nut. 
Hand tighten.  
 
 
 
 
 
 
 

4.	 Fasten the upper 
bag support to the 
A-frame using (2) 
M6 Rubber Coated 
Bumper Nuts. 
Hand tighten. 

5.	 Hand tighten any 
loose hardware. 

6.	 Install bag  
attachment to  
safety grab bar. 
 

 
 
 
 



PAGE 4

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

This completes the installation of your RHOX Bag Attachment.   
Please enjoy safely!  

 
Scan QR code or use the link to view our installation video library. 

https://www.youtube.com/user/golfcartinstructions


